Bkt R (BCKith )

MW7 —7 )L A—ILEER (IH4E)

HKFHH B {7 gy |[DMeEeR0A] SHeESR 08 $F4ECA E | Sk Sl Al $Fte A2 AieoR2 B 6704 108 1 B[ S5 10As B SR 12A0E] Ho% 108 [ ok A3l Bl oI Az2E
EKEZ — (51@1'”5) 10:18 10:14 10:20 10:47 9:45 10:18 10:07 10:07 9:03 9:36 9:25 9:52
KB °C =18 16.6 19.1 20.9 26.1 26.5 24.5 21.2 18.9 10.7 9.6 7.7 13.5
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001 <0.001 <0.001 <0.001
%ﬁ“/ 11}:’{?4# “BO ol 001 <0.001 <0.001 <0.001 <0.001
e me/L 0.6 0.06 0.08 0.06 <0.05
HO0OEER meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sookiLLs meg/L|  0.06 0.014 0.019 0.024 0.009
CHOOEEE me/L| 003 0.006 <0.002 <0.002 0.006
<JOoE/O0024> |me/L 0.1 0.004 0.004 0.003 0.004
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
BR)AOARS meg/L 0.1 0.028 0.033 0.037 0.021
) OOEEE: mg/L|  0.03 0.010 0.009 0.017 0.008
JOECH/O0aA4> |meg/L|  0.03 0.010 0.010 0.010 0.008
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER mg/L|  0.08 0.005 0.004 0.002 0.002
FHEIRBRUVZDIEESY [me/L 1 <0.004 <0.004 <0.004 <0.004
4@17':’%";%—'71"&”%0) me/l| 02 0.033 0.039 0.034 0.021
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
RARUVZFDIEEY meg/L 1 0.001 0.002 0.001 0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bt AA4> mg/L| 200 20 17 25 20 19 16 11 16 22 23 20 21
AREZREY me/L 500 166 148 95 186
I AIY ng/L 10 2 1 A A A A 4 1
2-AF ILAIRILFA—)L [ng/L 10 A A 2 8 4 A 4 A
ﬁé%%ﬁ EEs meg/L 3 1.1 1.2 1.2 0.8 0.7 0.9 0.9 0.9 1.0 1.1 1.1 1.1
pHIE — | 5.8~86 75 7.5 7.6 7.3 7.3 7.3 7.4 7.4 7.5 75 7.4 7.3
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BREA4L| BER4L] 2Eial] EEal] mwal] ®Bxal| Bgal| BEwal
BER — [Bgonunce| BEgal| BEggl| BEEgl] Beggl| BRE4gL| BERalL] 2Eial] =mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <05 <05 <05 <05 <05 <0.5 <05 <05 <05 <05 <05 <05
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1l E 0.4 0.4 0.3 0.4 0.4 0.3 0.3 0.3 0.4 0.5 0.5 0.4
e8| 5% Bt o R meg/L 20 7 8 4 7
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . . —I*ETEMJ%t
NERMEGUTITHER)| — b,:l’;@gw':ﬁ -0.7 -0.9 -1.3 -0.8
i)
HEEXEMER f8/m| 2000 1 0 0 0
z FILHE mg/L — 79 69 42 84
D ERmERE 1S/om — 269 237 303 229 226 206 140 214 284 285 255 256
LNRBRIEE260) | — — 0.011 0.015 0.012 0.010 0.008 0.014 0.013 0.010 0.012 0.014 0.014 0.013




